1ES MURILLD

EXAM 1_2 (Polynomials- Surds)
1. Work out and simplify:
a)(1p) x(x +2-x?(x +4)-2(x +2)(x - 2)=
b)(©0.75 p) (x2 — 2)(x3 — x2 +2x —1)=

¢) (0.75 p) 2x3y?(x2y? —3xy)-2x%(x%y* + 2)=

2. Rationalise and simplify:

a) (0.75 p) N2

3-42
2a

V5 +42
V5 -2

b) (0.75 p)

c) (0.75 p)

3. Work out and simplify:

a)(0.75 p) 12500 =
b) (0.75 p) +/2./8.3/16 =

2 50 2 1(8
) (0.75p) 7£‘3\E+E‘EE‘
4. Factorise:

a)(0.5 p) 16x*-8x° + x?
b) (1.25 p) x> —20x% —20x + 80

cc) (1.25p) x* -5x% +4
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SOLUTION

1. Work out and simplify:

a) x(x +2f-x%(x+4)-2(x +2)x -2)=x(x? +4x +4) - x* —4x?% -
—2x?—4)=xP 4 AxT +4x —xP —4x? —2x? +8=-2x" +4x +8

b) (k2 —2)x® —x?+2x—1)=x® —x* +2x3 —x? —2x* +2x? —4x +2 =
=x’-x*+x?-4x+2

) 2x3y2(x?y? —3xy)-2x%(x2y +2) =242y —b6xty® —2xty? — 4x? =

=2x°y* —8x*y® —4x?

2. Rationalise and simplify:

V2 \/§(3+\/§) _3J2+2

3-v2 B-V2J3++2) 7

2a 2a3/la 2d¥a
b = = = 23 a
Vo Ve a

C)\/5+\/§_(\/§+\/§)(\/5+\/§)_5+2\/5\/§+2_7+2\/ﬁ
-2 (B-v2f5+2) 5-2 3

a)

3. Work out and simplify:

a) V42500 =422 .5* =5422 =52
b) V28316 =¥23§/(23)§ll2*f =42%.2° . 2° =§2®° =32° =832

C)7ﬁ_3/@+/1_1ﬁ_7ﬁ_ﬁﬁ+1ﬁ_zﬁ_
3 12 V27 5V3 V3 2 V3 3V3 5\3
_(7_§+ng\ﬁ_(210_225”0_12)\E__Z\E
a 2 3 5N\3 30 3 30V3
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4. Factorise:

a) 16x*-8x% + x% = x2(16x% —8x +1) = x%(4x — 1)

b) 5x3 —20x2 — 20x +80 =5(x® — 4x% — 4x +16)

Div(16) = +1,+2.+ 4 +8 £16

P(1)=1-4-4+1620 P(-1)=-1-4+4+1620

P(2)=8-16-8+16=0

1 -4 4 416 x?-2x-8=0
2 2 -4 .16 o_2xV4+32 4
2 -2
1 -2 -8 0
Bx® -20x% —20x +80 =5(x - 2)(x +2)(x — 4)
c) x*-Bx?+4 Div(4)=+112.+4
P(1)=1-5+4=0 P(-1)=1-5+4=0
1 0 5 0 +4
1 1 1 4 -4
1 1 4 -4 o0
-1 -1 0 +4 x*—4=(x-2)x+2)
1 0 4 o0

x*-Bx?+d4=(x-1)x+1)(x-2)x+2)
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